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Write vour roll number on question paper before start writing answers of questions. No supplementary
answer-book will be given to any candidate, hence the candidates should write their answer precisely.
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Answers of all the questions (very short answer, .{I?Jgrt answer as well as descriptive) are to be given in
the main answer-book only. Answer of short ansﬁr type questions must be given in sequential order.
Similarly all the parts of one question of descfd‘gtive part should be answered at one place in the
answer-book. One complete question should not2 answered at different places in the answer-book.
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This part will consist of twenty compulsory short questions with 1 mark each, and shall be
the answeresheet. The word limit for these questlons shall be upto 50 words.

PART-I SHORT ANSWER

Maximum Marks: 40
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Define urbanization.
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What are the two main causes of rural-to-urban migration?v
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Name two characteristics of a metrdpolitan city.
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What is the primary focus of urban sobiology? :
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Define slums in the context of urban socicty.
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What are the key components,of sanitation in urban areas?
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Mention two health problems commonly associated with urban slums.
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What is the difference betweéﬁ modernization and development?
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Define sustainable development.
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Name two major incqualitiesg'g_i development.
—
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What do you understand by displacement in the context of development?
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(xii) Dcfine the term rchabilitation.
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(xiii) What are the three key aspects of globallzt(uéon?
s
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(xiv) Define the term globalization. .
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(xv) How does globalization contribute to cconomic incquality?
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(xvi) What is meant by marginalization ina globalized world?
o ,
&ﬁhﬂméﬁgﬁmﬁgﬁmn?aﬁaﬂmﬁgﬁ%.

(xvii) Define the term digital divide.
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(xviii) Mention two causes of identity crisis in globalization.
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(xix) What is the significance of studying the sociology of globalization?
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(xx) Mention two impacts of cconomic divide on developing nations.
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2. Answer the following (2 marks each, 40 words limit).

(1) Explain how migration contributcs to urban growth.
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(i)  What are two challenges faced by cities due to rapid urbanization?
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(i)  How does urban sociology help in understanding city life?
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(iv)  Discuss the role of sanitation in improving urban health conditions.
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Q%) What are the key differences between modernization and sustainable development?
SYHBIBRT 3R weret s & Sy e 3R @ &7
(vi)  Explain how displacement affects communities.
forermey Tqart & & iy axan &, el
(vi)  What are the effects of gender ineuglity in development?
fara & feimm srammer & gva @ &
(vil) How does globaliiation influence local economies?
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(ix)  Explain how the digital divide impacts educations.
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(x) Discuss how identity crisis emerges as a result of globalization.
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PART-11 DESCRIPTIVE
Maximum Marks: 60

Attempt three questions in all, selecting one question from each section. All questions carry equal marks.
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Section-A
Discuss the different types of cities and their role .in ecoﬁomic and social development.
falir=1 woR & Tl R Taf R 3R 375 snfics wd wmfeis faen & g a1 we &Y

OR/31Man

4. Explain the concept of urbanism and hpw it shapes social life in moderﬁ cities.
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Section-B
5. What are the major forms of development? Discuss how they contribute to social change.
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6. Analyze the impact of development inequalities on marginalized communities, focusing on education

and gender.
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Section-C
7. Discuss the role of globalization in shaping modern identities and cultural interactions.
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%. How does the economic divide affiect developing countries in the era of globalization? Discuss

with examples.
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